Bellwork  Alg2  Final Exam Review  Tuesday, January 14, 2020

Use the graph below for problems 1 to 5.
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(2,-5)
1. State the coordinates of all extrema, if any.
a) Absolute Max: b) Absolute Min: c) Relative Max: d) Relative Min:

2. State all invervals of increasing and decreasing, if any.
a) Intervals of Increasing: b) Intervals of decreasing:

3. State all intevals of concave up and concave down, if any.
a) Intervals of concave up: b) Intervals of concave down:

4. State the probable degree of this polynomial and whether the leading coefficient is positive or negative:
a) Degree: b) Leading Coefficient:

5. Suppose there is another x-intercept off the graph to the right and another minimum off the graph to
the left. State the most likely degree of this polynomial and whether the leading coefficient would be

positive or negative.
a) Degree: b) Leading Coefficient:

6. Write a possible equation for a polynomial with the given degree and given number of real zeros.
a) 8th degree and 4 distinct real zeros. b) 9th degree and 6 distinct real zeros.

7. Is x + 3 a factor of 4x* + 10x* + x? + 16x — 15? Give a reason for your answer.



8. An object is shot into the air from the top of a 45 foot building. The following equation models the
height of the object as a function of time. A(¢) = —16¢2 + 200t + 45
a) Find the time it takes the object ot reach a height of 500 ft.

b) Find the time it takes the object to reach the ground.

11 o 5
x2—4x=21 X2 -—11x+28

9. Simplify.

4x% — 196
2x3 — 4x2 — 70x

10. Find all Holes and VA, if any.

11. Write the equation of the Horizontal Asymptote, if any.

11x3 +8x2 - 7x+ 10 —6x% 4+ 24x — 16 18x3 + 7x* — 36x
a)y= b) y = C)y=
) ¥ 4x7 =5 ) 25 D arter 024 2 b=y

12. Write the equation of this graph which is a transformation of y = %

o

| et

EQ:




Tuesday, Janu

Bellwork Alg2 Final Exam Review

Use the graph below for problems 1 to 5.

o8 |

(2.-5)

d) Relative Min:

1. State the coordinates of all extrema, if any.
b) Absolute Min: c) Relative Max:
NON E (—3,:)1,(&,.“/) (2,—5’)/ (.71_3)

a) Absolute Max:

NONE

2. State all invervals of increasing and decreasing, if any.
b) Intervals of decreasing: :
(.__oo/ _j)u(-—3,1) u(%/oc>

a) Intervals of Increasing:

(——71"99 % (215’)

3. State all intevals of concave up and concave down, if any.
a) Intervals of concave up: b) Intervals of concave down:
(-2, -9)v (-1 &) Colies)
4. State the probable degree of this polynomial and whether the leading coefficient is positive or negative:
Leadi icient: f
b) Leading Coefficien NEGATIVE

a) Degree: 5 T

@Suppose there is another x-intercept off the graph to the right and another minimum off the graph to
the left. State the most likely degree of this polynomial and whether the leading coefficient would be

positive or negative. = ;
a) Degree: < ™ b) Leading Coefficient: ?O$iT)VE

6. Write a possible' équation for a polynomial with the given degree and given number of real zeros.
b) 9th degree and 6 distinct real zeros.

X (3G (o5 G ) )

a) 8th degree and 4 distinct real zeros.
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7. Is x + 3 a factor of 4x* + 10x® + x2 + 16x — 15? Give a reason for your answer.
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8. An object is shot into the air from the top of a 45 foot building. The following equation models the
height of the object as a function of time. A4(f) = —16¢2 + 200z + 45

a) Find the time it takes the object ot reach a height of 500 ft.

oo = -/(a{;l+z.aol: + 46
- 500 - 500
o= —lot?r +20t 955
b*-4qc = 10,5850 i
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= e 1

b) Find the time it takes the object to reach the ground.
\/V\_/
h=0&
O = ittt 200t +4S
pb=Hac= W 42,8380
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9. Simplify. 11 3

x2—4x—21 x*—11x+28
=3 (X=7)(x-4)
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10. Find all Holes and VA, if any. e el (( X Q)
v i ZX(XE-2% 38

pro ot deombmatly 2 50y Geamtney
2x (X -7)(Xt5)

11. Write the equation of the Horizontal Asymptote, if any.

a) y = 1189+ 852 — 7x+ 10 b) y = =622 24x— 16 1863 752 — 36x
42— 5 259+ 3x% + 8x — 4 653+ x2 + 18
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12. Write the equation of this graph which is a transformation of y =
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